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2 ODooboboooboobouogo

AWK OODOOOOOooooooooooooooooooo (o)yooooooo
0000000000000D0 (DO0)0U0L00D00D0D0D0DOooDOODOOO0OO0OO
goo

l.eawk OODOODOODOOOO-F [DOODOIODDODOO
2.gawk 00000 (D00 BEGINOOODO)OOO FSOOOODOOOOOOOO

-FOOOooodoobobooooboboboooob rsO0oooooon

rFsO0OUb0ooobbug 1ogooooobbobbooobboobbooooo
0O (@ooo//00000""00O0O) OO FS=""0000 FOOOOOOO
gobbobooooboboblibobooogbobbooogboboboooobn:

Z:¥> gawk -F , -f scriptl.awk datal.txt

O000Odatal.txt 0000 ,(000)00000000O00O00O0O0OOOOOOFS
gobboooggtors = ","0bbbuogoogbbobo »~~ugogobbbogd-F
gbooboobooboooooboobobobobuoobognD rsO00Osplit() U
0300000000000 0000DO0DO0O00O0O splitO OOOO0DDODODO
oo

Excel 00O O0OD0ODO0ODO (.x1s0)000000000000gawk 0000000
O000O0D0O0O0OOExeel DODODODOOO0OOOOOODOD (CSVODO OODO)DOO
oo -F , 0000000 gawk OO OODDOOOODOO0OODODOOODODO
OO000oopDob gawk DODOODOOOOOOO:

BEGIN { FS = "," }
{ x += $2x8$3 }
END { print x }

OO0 gawk OO0 ODOOO0OO0OOODODOOOOO 2000 300000000000
OO0O0OO0OBEGINOODODO FSOOODODDOUOOOO-FOOLDDODDOOOOODODO

ooocsvooooooooooooo ~~gobOO0oOoobOoboOoOooDboDbon
O0000o0Db0bO0obonb gswbO UOOOOODOODOODODOOODOODOO

BEGIN { FS = "," }
{ gsub(/"/, ""); x += $2x$3 }
END { print x }




O 130:.00000000AWK OO0 OO 1 3

3 gawk U0 0D0O0OOOO0OOO

Oboobooobooboobuoobuoobuoobooboong %, %2,...000
O000000Dgawk OO0 AWK OOODODOOODOOOODOOOODOOOOO-vO
0000000000000 0000ooooooooooo (o 1o

000 00 |

~v [00D0I=[0] | 0000000000 [000]000000
0000 [0]o00

g l.-voogoo

gooo

{ if (even 1 & NR%2 == 0) print # 000000

0 & NR/2 == 1) print } # OO0OOOO

if (even

gbboodbbodgbboodgbbodiblbeven oo obooboooogonono
O000000000000000000000000000 (testt.awk 0O0ODO) O

Z:¥> gawk -v even=1 -f testl.awk data.txt ‘

gbobbbbouooggbobbbbduodd even U 100000O00OO0O00O0OO0DOO
oboboboobooobooboboooboobuobboboooboobOobbdgawk
gbbboooobbbuoobbboooobbbuooobn

gbodlbl even UUO-vUOUODODOOOODDOOODDOOOD ODODOO 10DO00OO
goboboood BecINUOODDODDODOO0O0ODDODOOO:

BEGIN { if (even == "") even = 1 } # DO OOOODOOO
{ if (even == 1 && NR%2 == 0) print
if (even == 0 && NRJ%2 == 1) print }

-vUOO0O00 BEGINUUOUOOODODDLDOUOOO0OO00OODO-vO even UOOODOOU
O000ooo0O " (000O0)000000O0O00OBEGINODDODOD if0000ODOO
gbobobuoodid--00000000bib even 0000000 booooon
("O0O0000D0 if 00000000 10000000DODODOOO0

OOOBEGINODUODOUODOOLf (even == "")OOO0OOOODO
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BEGIN { even
{ if (even

if (even

=1 }

== 1 && NRY%2 ==
== 0 && NRY%2 ==

0) print
1) print }

UO0O0O0OBEGINDOODOO

-vOoOoooooboooboobodb-vO even O

gboboboooobbbuoooobobobuooobb1boo0obooon

gbooboobobobobboob oobOmif (even == ""OUOOOOO
Oif (even == )0 U00O00OOOOOODOODOOOOO

1}
0) print
1) print }

BEGIN { if (even == 0) even =
{ if (even == 1 && NR%2 ==
0 && NRY%2 ==

if (even

UUOOBEGINUDDUOUUOUOO-vUOUOOUOOODODOODDOOOOO even U 00000
-vl even U OUODOOO0OOOODOOO0OO0OOOO0MM -v even=000 000000
gbobbododd even 10000DOOO0O0OOODOOOOODODOO

4 AwK OOUOOOOOoooo

AWK DO print OO0 0Dprintf 0000000 O0DO0O0OOOOOODAWKDOOODOOD
O0000000o0o000ooOo0o0U00ooO0oUU0DoOD (0 2)DoOC00OoUODOO

god g

print ... > "fname" |printU000 fname O OO0
O00ooOoOogo (oo)

print ... >> "fname" | print UU U0 fname DU UOOD
O00000oo (O0o)

0200000000000

OoooooobOoOoboo0oobDbO0ooD AWKDOOOoooDooooboooooo

gbodgbouoboobogbuodgbuooobuoobuoobooboobboobbobb
000000 (00)Dprintf 0 print 000000000000

00000000000 (20XXYZNNN) D00 O0O0O0OD0OO0OOOO0OOODODOOO
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{ if (/~20...1/) print > "data-m.dat"
if (/°20...2/) print > "data-i.dat"
if (/°20...3/) print > "data-e.dat"
if (/°20...4/) print > "data-a.dat" }

000000000000 00000000 600 (D0)0O 1000 data-m.dat
gbe6000 2000 data-i.dat UDOUOO00OO0O0OO0OO0OO0O0DOO0O0DOO0ODO

OoO0oAWKOOODODOOoOoooooooooooooooooooboooooooo
gbobboooobbboooobbb ifoggob 400000bbooogn

/~20...1/ { print > "data-m.dat" }
/~20...2/ { print > "data-i.dat" }
/~20...3/ { print > "data-e.dat" }
/~20...4/ { print > "data-a.dat" }

gbobbouoogogn

gcawk D0 O0O00O0OD00ODO0ODODOOOOOOO print0000O00ODOO >0000
gbo1oobboooobobboogbdoooboboboooobobobboooobo
gbbogobbooboboooobooobbood>b >»>uuoooobbogn
goboboodbobobuood>goubbooobobboooobbo>»>bobuogoon
gbobbooogbbobuoooobbboo

gboboobbbooouooooooobbbibibdd clese 000 ooooon
close(O OO0 sOO0OO00ODOOOOOOODOODOOODOODOODOOOODOODOO

== == |
| close(s) |000D0 s00D00D00000O

O 3: 00 close()

U000000000 cleseO DOUODODUODOOODOODOODODOO gawkdDOOO
OO00000 cloeseO DODOODOODOOODOODO close() DOOOOOODO

gbobb oobbbooodobobbooogbbboooobood
e 2000 UO0OLODO LDLODLDUOOUODLDDLDLOUOOOODLDOD

e UL OOODLODOUOODLDUOODLDLDOODLUOODDLOObLODLDODO
400 1000000000
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gbobbbuooobbbooodbbDO student-i3.txt UU D ODOUOOOOO
O0o0ooOobOoboooooobD AWKODOOoooboboooog

BEGIN { ka["O0O"] = "m"; ka["O0O"] = "i"; ka["O0O"] = "e";
ka("OO"] = "a"
NF == 2 { if (NR > 1) close(fname)
fname = sprintf("student-%s¥d.txt", kal[$1], $2); next }
{ print > fname } # $0 0 fname 000D 0O OOOODO

gbobgooog 3gbo40b00000b0b00bobob0 200b0b0b0o0o0bo
Uoddbibb next UOUUOOOoOoooboOobObOOOOO0O0O0O0O0O0OoooonDn
gobbooodgb sbbuoobbbbooodgbbbogo

40000000000000 sprintf() 00000000 frame 00000000
00000000000000000000000000000000000000
D000000000000000Oprint > frame00 000 (500)000000
0000000000000000000000 clese() 00 (300)000000
00000000 (400)0

U0040000next0000002000000000print > fname00 OO0 OO
gbogobobbobooboob obooboobbobobooboobod

5 AWK O 1000000

cawk 000 0D0D0D0ODOD0DAWKOOOOOOOOO 10000000 (DOQOO 10
00000)00000000000000000000ODOO0O0O0O0OOOOO

Z:¥ gawk "[00O0O0O00OOOCO]" [ODDOOODODO]

ooo00M-f (DO00O0oooOoblooboboooooboooboboboooogo
gobooog »~gboboboooobo:

Z:¥> gawk "{print $2,$1}" datal.txt > data2.txt

OOdatal.txt 0 1000 200000000000000000000 (>)000
00 data2.txt 00000 (0000)0

O00ooOo0o0ooOoOooo0oobbo0o0 AwWKOOoOoooooooboooo

0d:
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e HOUOUOUOooLbODLOO "ODLOLOLLOUOOOLODLbOLOOOO "bobo
gboboboo¥"ouggoooboo

e HUUUOOUDLDLDOUOOODLODO "vOUULLOUOOUOLDOD

e UODODOOD gawk DO D UOODLDODOOOODODOOODODOODY O
% 00000000 (bOoooO0oU0UoOooDoooboOOg »Ooo)o

000 100000000000000000 (gawkODOOODOOODOOOODOO
0000 1000000000 0)d

| "NR<=10" |

10000 woooo00do (coboooooooooo)

["/"20...2/"

0000000000000 00 (DOoODOooooooooon)

’ "NE>0" I

00000 (000000oooooooooon)

"{n+=$1}END{print n}"

100000000000 (DOD0DooooooDOOo0 100000)

"{n+=NF}END{print n}"

gbobobooogn

"END{print NR}"

gboboooogn

"END{print}"

0000000 (o0 ENDODODOOOODOODODOOOD)

"{gsub(/0O /,¥". ¥"); print}"

O00D0o00ooooooo+0000o

" {print tolower ($O) } "

0000000000000 000000D0O ¥ 000)
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"BEGIN{for(j=1;j<=31;j++)printf ¥"2015-07-%02d¥n¥",j}"

0000000000 (boooooooooo)

"BEGIN{srand();for(j=1;j<=100;j++) print 5*rand()}"

0000 5000000000 100000

"BEGIN{t=systime(); while(systime()<t+10);}"

wooooooooo

"BEGIN{print strftime(¥"},Y-%m-%d %H:%M:%S¥")}"

gobobooogboo

bbb 4000d00obobuBecINU00DDUOO0UODOOOoooboboooonon
0000000000000 (DODO0000oO0oooooon)o

oob:. ogoogog

gbogbobobboobboboboobbobbooboobooouoobogob
OpCOODOOOOODOODOODODODODODODODOOOODODOODOODOD
gobbobbbouooogogobbbobbuoooooobbobbboooooobbo
gobbboooobbbuoooobbbuooooboboan

gbooboobboobooboobobooboobbooboobboobod
gboobooobboooboobboobbuoobboobboobooobobod
gboooboobobooboobbooboobboobooboobboobod
gbogbobbdobobobobobobobobobobobobobobooooo
gboobooboobob

gbobboooobbbuoodgbobboooobbbuoooobobodg

gboooboobuogboobobooboboobooboboobaono
gogbobobbobbbououooooobbboooobbboboooobo
gboboboooobbbuoooobbbooon

gboobbooobooboooobooboobboobooboob
gbooboobboboobooboon

(cf. http://www.pfu.fujitsu.com/hhkeyboard/dr wada.html)



